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* Rank 0 tensor.
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* Rank 1 tensor. * Rank 2 tensor (s).
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* Rank 2 tensor (a). * Rank 3 tensor (s).

0 0 0
0 0 0
0 0 0
Tpew 0 0
0 Tyeo O
0 0 Ty

e =MLY 4T
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* Rank 4 tensor (sss).

Tzzzz Tzzyy Tzzzz 0 0 0
T’I}.’I?’yy TE.’IJ.’I?.’E T’I?.’EZZ 0 0 0
TIL‘.’IJZZ T(L‘ZZZ TZZZZ 0 0 O

0 0 0 Tyzy- 0 0

0 0 0 0 Tyzyz 0
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* Rank 4 tensor (ssa).

0 0 Tiw-2 0 0 O
0 0 Tozzz 0 0 0
_szzz _Tzzzz 0 0 0 0
0 0 0 0 00
0 0 0 0 00
0 0 0 0 00
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* Rank 4 tensor (aas).

EJzyz 0 0
Tyzyz 0
0 0 Tl;ymy
TyZyz = _QTéi) + Ts(g)

Teyay = 4Td(2) + TSS)

* Rank 4 tensor (aaa). * Rank 4 tensor (sa).
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Tyzy= = _3T(Eu)

* Rank 4 tensor (as).
0 0 0 Tyy- 0 0
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* Rank 4 tensor (s).
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Tzzyy Tzzzz Tzzzz 0 0 0 0
TZZ.T}.’L’ TZZZ‘.’L' TZZZZ 0 0 0 0
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Tpoee = Th) + 3740 — T — T + TO
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* Rank 4 tensor (a).

0 0 0 Tyy- 0 0 Tyzzy 0 0

0 0 0 0 Ty 0 0 Ty 0

0 0 0 0 0 Toyay 0 0 —Tyay
Tyzyz = 72Tz§i) - 3Td(i) + Ts(3)
Tyzey = 2T¢§3) - 3Td(g> - Ts(g)

Teyay = 4Td(i) + T9<3)

* Rank 4 tensor (t).

0 Txaczac 0
0 0 Tzzzz
0 0 T‘yyzz
Tzzzz 0 0
0 Twryy 0
0 Tyzzy 0
0 0 Tzza:z
Tzzyy + Tyyzz - Tyzzy - Tzzzz + Tzzzz 0 0
L 0 0 0 |

Typow = —2T50) — 4TS — T 4 27V 4 37V
T..oo = 4TS + 8T 42780 4 27D 4 37D
Tyyee = Ty +3T4 = T4 = T + 1
Tovww = T = 3T — T — T 4 T
Tyayy = _QTéi) +21y) — ngl) + 1M
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Tyesy = Ty + 3745 = Tj) = TV + 1
Tza:z‘z = T(gi) - 3Tl§i) - Tg<,,11) - Tg(l) + Ts(l)



